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http://farbe.li.tu-berlin.de/eef 7/eef 710na.txt /.psonly vector graphic VG; start output

| see separate images of this pauger//farbe.li.tu-berlin.de/eef7/eef 7.htm
(AYIY) 1 (AYIY), CIE-Y sensitivig (AYIY) I (AYIY), CIE-Y sensitivitK | [AYIY) T QYY) CIE-Y sensitivig (AYIY) T AYIY), CIE-Y sensitivitK
CIELAB & TUBJNDQ normalized to (AY/Y), CIELAB & TUBJN normalized to (AY/Y), CIELAB & TUBJNDQ normalized to (AY/Y), CIELAB & TUBJN normalized to (AY/Y),
3 3 3 3
o g L rusanp=d In [1+1-(Y/Y,)] d=25,6 b=6,141 [2a] L*ruganp= d In [1+ §:(Y/Y,)] d=25,6 b=6,141 [2a] L ruganp=d In [ 1+ 1-(V/Y,)] d=25,6 b=6,141 [2a] L*ruganp= d In [1 -+ §:(Y/Y,)] d=25,6 b=6,141 [2a]
gm L* cieLas =116(Y/Y,) 16 (Y,=100, 0,8% Y) [2b] L* cieLas =116(Y/Y,) $-16 (Y,=100, 0,8% Y) [2b] L* cieLas =116(Y/Y) 16 (Y,=100, 0,8% Y) [2b] L* cieLas =116(Y/Y,) 16 (¥,=100, 0,8% Y) [2b]
S0 2 2 2 2
o3 L8 . black L8 . black L8 . black L8 . black
Q= [ [ I I
s 2 14 rgreLe 2L mi-0. 7800 e ™" || 1AL e =1L m=07 g " 14 rgrerae =1 m=0.700 e ™" || A e =1L m=07 g "
= L, cieLae =49 Y,=i8| T -0‘58"‘_ — Ly cimas =49 Y=18 | TSI .0’58'.”_ — el L, cieLae =49 Y,=18| T _o,bs"‘_ o Ly cieLas =49, Y,=18 | ST _U,bts'.”_ —
o)) T L il T L il T L il T -
Son 0 Ya=36 | 1Y,=18 Y,y =90 0 V=36 | 1v,=18 Yy =90 0 Ya=36 | 1Y,=18 Yyy=90 0 V=36 | 1v,=18 Yy =90
Q o, 0 50 100 150Y 0 50 100 150Y 0 50 100 150Y 0 50 100 150Y
g 5 (AYIY) 1 (AYIY), CIE-Y sensitivitK (AYIY) I (AYIY), CIE-Y sensitivitK (AYIY) I (AYIY), CIE-Y sensitivitK (AYIY) T AYIY), CIE-Y sensitivitK
=50 CIELAB & TUBJNDQ normalized to (AY/Y), CIELAB & TUBJN normalized to (AY/Y), CIELAB & TUBJNDQ normalized to (AY/Y), CIELAB & TUBJN normalized to (AY/Y),
(=g
= 3 3 3 3
e) % L rugano= 0 In [1+ B (YY) d=25,6 b=6,141 [2a] L usanp=d In [ 1+ - (V/Y,)] d=25,6 b=6,141 [2a] L ruganp=d In [ 1+ 4-(Y/Y,)] d=25,6 b=6,141 [2a] L rusanp=d In [ 1+ - (Y/Y,)] d=25,6 b=6,141 [2a]
S. 2 L* cieLas =116(Y/Y) F-16 (Y,=100, 0,8% Y) [2b] L* cieLas =116(Y/Yy) F-16 (Y,=100, 0,8% ) [2b) L* cieLas =116(Y/Y) F-16 (Y,=100, 0,8% Y) [2b] L* cieLas =116(Y/Yy) F-16 (Y,=100, 0,8% ) [2b]
SINGY 2 2 2 2
gm e black i black e - black i bk
YD
TE || deme 2t me-o QO 14V rgeLae T =07 14 rgrerne =1 m=0.700 14V rgeLae T =07
g -5" L*, ciELap =49, Y,=18 |‘ Ny " _(),bB - . L*, cieLag =49, Y,=18 . . _0,58 . prrd L*y cieLag =49, Y,=18 |‘ Sew N _(),bB . e L*y,clELaB =49, Y =18 . e _0,58 . “white |
o = T N S T . T T T . T SIS, T T S -
g = o Ya=36| 1Y,=18 Y,y =90 0 V=36 | 1Y,=18 Yy =90 o Ya=36| 1Y,=18 Y,y =90 o V=36 | 1v,=18 Yy =90
= % 0 50 100 150Y 0 50 100 150Y 0 50 100 150Y 0 50 100 150Y
b_ (] eef70-3n eef71-3n
® - (AYIY) 1 (AYIY), CIE-Y sensitivitK (AYIY) 1 (AYIY), CIE-Y sensitivitK (AYIY) 1 (AYIY), CIE-Y sensitivitK (AYIY) T AYIY), CIE-Y sensitivitK
Q E" CIELAB & TUBJNDQ normalized to (AY/Y), CIELAB & TUBJN normalized to (AY/Y), CIELAB & TUBJNDQ normalized to (AY/Y), CIELAB & TUBJN normalized to (AY/Y),
[ 3 3 3 3
g o U*rusanp=d In [ 1 + I (Y/Y)] d=25,6 b=6,141 [2a] L*rusnp=d In [ 1+ - (Y/Y)] d=25,6 b=6,141 [2a]
o) % L* cieLas =116(YIY,) 16 (Y,=100, 0,8% Y) [2b] L* cieLas =116(Y/Y,) =16 (Y,=100, 0,8% Y) [2b]
=
o> 2 2 2 2
oo e back 9 back e back 19 back
o & R R R e
_ L* cieLas =1, m,=-0,7800 application L* cieLas =1 m,=-0,7800 application L* cieLas =1, m,=-0,7800 application L* cieLas =1, m=-0,7800 application
= Ipre=ee sl fange B i e A fange Ipre=ee sl range B i e AT range
E" n L*ucieLas =49, Yy=18 | ST ~ 0,58 Ty L*ucieLas =49, V=18 | % ST - 058 Ty L*ucieLas =49, Yy=18 | ST ~ 0,58 . e L ucieLas =49, V=18 | % ST - 058 . e
> T - - T - D T - - T - ]
o '§ o Y\=36.| 1Y,=18 Yy =90 0 Yy=36| 1v,=18 Yy,=90 o Y\=36.| 1Y,=18 Yyy=90 0 Yy=36| 1v,=18 Yy,=90
g 0 50 100 150Y 0 50 100 150Y 0 50 100 150Y 0 50 100 150Y
S OYN) T DY), CIE-Y sensitiviX @YY T DY, CIE-Y sensitivitK OYN) TDYN), CIE-Y sensitiviX @YY T DY, CIE-Y sensitivitK
% CIELAB & TUBJNDQ normalized to (AY/Y), CIELAB & TUBJNIﬂ normalized to (AY/Y), CIELAB & TUBJNDQ normalized to (AY/Y), CIELAB & TUBJNIﬂ normalized to (AY/Y),
3 3 3 3
L*rusanp=d In [ 1 + - (Y/Y)] d=25,6 b=6,141 [2a] L*rusnp=d In [ 1+ - (Y/Y)] d=25,6 b=6,141 [2a]
L* cieLas =116(YIY,) =16 (Y,=100, 0,8% Y) [2b] L* cieLag =116(Y/Y,) =16 (Y,=100, 0,8% Y) [2b]
2 2 2 2
e back 19 back e back 19 back
1o fl’.".hi‘E'Z‘&L 1 rgeuse Lm0 Lo fl’.".hi‘E'Z‘&L 1 rgeuse L MO0
L*ucieLag =49, V=18 | ST ~ 0,58 o L*ucieLas =49, Yy=18 | ST - 058 e L*ucieLag =49, V=18 | ST ~ 0,58 o L*ucieLas =49, Yy=18 | ST - 058 e
T R S .- T A .- T A - T A .-
o Yy=36| 1Y,=18 Yy =90 o V=36 | 1Y,=18 Yy,=90 o Yy=36| 1Y,=18 Yy =90 o V=36 | 1Y,=18 Yy, =90
0 50 100 150Y 0 50 100 150Y 0 50 100 150Y 0 50 100 150Y

eef70-7n

2 e
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eef71-7n

TUB-test chart eef7; SensitivitAY/Y) / (AY/Y)y = f(Y) of colour spaces

CIELAB & TUBJND, see ISO/CIE 11664-4 & CIE 230, many information (left), and less (right
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